Sekilde; A

[AB] 1[AC]
AB | =6 br
BD|=3brve 6
DC|—9brise
AD | kas brdir?
B—— 5 C
A)3 B) 4 C)32 D)5 E)33
¢ Sekilde, A 3 B
ZCIENCS I
[BC] 1[CD] ‘
AB|=3cm
DC|=5cmve
BC|=6cmise, | .
AD | kas cm dir? c D
A0 B)72 C)63 D)8 E)43
3. Sekilde, A
[AH] 1 [BC]
BC|=|AC S
AH | =6cmve 6
HC | =8 cmise,
B H 8 C
AB | = x kas cm dir?
A) 38 B)2 C)35 D)2 E)10
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Sekilde,
[AB] 1 [BC]
AD|=|DC|=3cm

BD | =2cmise,

AC|=x

kas cm dir? - :
B 2 D 3 C

A6 B)42 C) 30 D)2 E)6 2
Sekilde, A
m(ABC) = 60°

AB|=8cmve

BC|=5cmise, 8 X

AC | = x kas cm dir?
60°
\
B 5 C

A) 5 B) 4 3 C) 7 D)5 2 E) 8

Sekilde, A

[AB] 1 [AC] 12

[BC] 1 [CD] C
|AC| =12 cm 16 ;

| AB| = 16 cm ve 15
| CD|=15cmise,

B X D
| BD | = x kas cm dir?

A) 25 B) 23 C) 20 D) 17 E) 16
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Sekilde,
[AH] 1 [BC]
AB|=4cm, 4

BN|=1cmve

HC | =5 cmise, BT H 5 o)
AC | = x ka¢ cm dir?

A6  B)2 C)35 D)7 E)52

Sekilde,

[AB] 1 [AC] A
[DE] 1 [BC] ° b
|BE|=|EC| N
DC|=13 cmve
AD | =5 cm ise,

13

AB|=x kac¢ cm dir?

A) 8 B) 9 C) 10 D) 12

Sekilde,
[AB] [AC] A
[AH] 1 [BC]
m(ACB) = 30°ve
BH | =4 cmise,

|[HC |= X
ka¢ cm dir?

30°
B 4 H X C

A)23 B4 C6 D43 E)12
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Sekilde,

[AB] 1 [BC]
BD|=1cm
|DC|=2cmve

|AD | = 3 cm ise,

|AC | = x kag cm dir?

A)2 6 B) C)25 D)3 2 E)

Sekilde, A

m(ABC) = 45°

|BC|=52cm 17 /
AB| =17 cm ise,

|AC | = x kas cm dir?

—
>

45°
B 52 C

A) 10 B) 11

C) 12

D) 13 E) 15

Sekilde,
[BA] 1 [AC]
[KH] 1 [BC]
BN | = |HC
m(ACB) = 15° ve
|AK]| = 3br ise,
KC|=x
kag br dir?

B Y H o C

A6 B4 C42 D)33 E)23



